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Index: 0, Unicode:

Nodes: 126, Contours: 3
BBox: (0, 0) - (2800, 200)
LSB: 0, RSB: 2, Width: 2802

[

Index: 2, Unicode: 0063
Nodes: 434, Contours: 21
BBox: (0, 0) - (2800, 216)
LSB: 0, RSB: -2, Width: 2798

e

Index: 4, Unicode: 0065
Nodes: 285, Contours: 12
BBox: (0, 0) - (2796, 192)
LSB: 0, RSB: 2, Width: 2798

g

Index: 6, Unicode: 0067
Nodes: 173, Contours: 5
BBox: (0, 0) - (2800, 200)
LSB: 0, RSB: 6, Width: 2806

i

Index: 8, Unicode: 0069
Nodes: 423, Contours: 20
BBox: (0, 0) - (2800, 289)
LSB: 0, RSB: 2, Width: 2802

k

Index: 10, Unicode: 006B
Nodes: 247, Contours: 3
BBox: (0, 0) - (2800, 301)
LSB: 0, RSB: -2, Width: 2798
Ish: 863, rsh: 861, width: 1074

m

Index: 12, Unicode: 006D
Nodes: 189, Contours: 5
BBox: (0, 0) - (2800, 196)
LSB: 0, RSB: -2, Width: 2798

o]

Index: 14, Unicode: 006F
Nodes: 186, Contours: 3
BBox: (0, 0) - (2800, 312)
LSB: 0, RSB: -2, Width: 2798
Ish: 690, rsbh: 688, width: 1420

q

Index: 16, Unicode: 0071
Nodes: 343, Contours: 18
BBox: (0, 0) - (2800, 293)
LSB: 0, RSB: 6, Width: 2806

S

Index: 18, Unicode: 0073
Nodes: 512, Contours: 4

BBox: (0, 0) - (2800, 305)

LSB: 0, RSB: 2, Width: 2802
Ish: 1094, rsb: 1095, width: 613

u

Index: 20, Unicode: 0075
Nodes: 572, Contours: 11
BBox: (0, 0) - (2800, 297)
LSB: 0, RSB: 10, Width: 2810

w

Index: 22, Unicode: 0077
Nodes: 267, Contours: 10
BBox: (0, 0) - (2800, 368)
LSB: 0, RSB: 6, Width: 2806
Isb: 63, rsb: 63, width: 2680

y

Index: 24, Unicode: 0079
Nodes: 216, Contours: 1
BBox: (0, 0) - (2800, 390)
LSB: 0, RSB: 6, Width: 2806
Ish: 1404, rsb: 1347, width: 55

b

Index: 1, Unicode: 0062
Nodes: 154, Contours: 6
BBox: (0, 0) - (2800, 200)
LSB: 0, RSB: 2, Width: 2802

d

Index: 3, Unicode: 0064
Nodes: 436, Contours: 14
BBox: (0, 0) - (2800, 297)
LSB: 0, RSB: -2, Width: 2798

f

Index: 5, Unicode: 0066
Nodes: 306, Contours: 8
BBox: (0, 0) - (2800, 196)
LSB: 0, RSB: 6, Width: 2806

h

Index: 7, Unicode: 0068
Nodes: 344, Contours: 12
BBox: (0, 0) - (2764, 208)
LSB: 0, RSB: 34, Width: 2798

J

Index: 9, Unicode: 006A
Nodes: 277, Contours: 9
BBox: (0, 0) - (2800, 297)
LSB: 0, RSB: 2, Width: 2802

|

Index: 11, Unicode: 006C
Nodes: 142, Contours: 2
BBox: (0, 0) - (2800, 172)
LSB: 0, RSB: 2, Width: 2802

n

Index: 13, Unicode: 006E
Nodes: 483, Contours: 10
BBox: (0, 0) - (2800, 285)
LSB: 0, RSB: -2, Width: 2798

p

Index: 15, Unicode: 0070
Nodes: 226, Contours: 11
BBox: (0, 0) - (2796, 293)
LSB: 0, RSB: 6, Width: 2802

r

Index: 17, Unicode: 0072
Nodes: 857, Contours: 16
BBox: (0, 0) - (2800, 402)
LSB: 0, RSB: -6, Width: 2794
Ish: 377, rsh: 370, width: 2047

t

Index: 19, Unicode: 0074
Nodes: 429, Contours: 2
BBox: (0, 0) - (2800, 293)
LSB: 0, RSB: -2, Width: 2798

\%

Index: 21, Unicode: 0076
Nodes: 289, Contours: 17
BBox: (0, 0) - (2800, 297)
LSB: 0, RSB: 2, Width: 2802

X

Index: 23, Unicode: 0078
Nodes: 146, Contours: 8
BBox: (0, 0) - (2792, 264)
LSB: 0, RSB: 10, Width: 2802

z

Index: 25, Unicode: 007A
Nodes: 379, Contours: 6
BBox: (0, 0) - (2800, 309)
LSB: 0, RSB: -2, Width: 2798
Ish: 891, rsh: 1157, width: 750



